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ECONOMICS
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( Data Analysis )

Full Marks : 50
Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x4=4
wore fiear erieR e fian
(a) Define arithmetic mean.
TR MY i fram

(b) Find range of the following data :
T O “iRPIR Efreat
5 7, 10, 15
() What does r = -1 mean?
r=-1aRg@H?
(d) Define an unbiased estimator.
PR S o1 IR foart |
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2. Answer the following questions : 2x3=6 fe) Distinguish between :
were il eppyEs s fol - oy e 1 -
() Find harmonic mean of 2, 4 and 8 (i) Positive and Negative correlation
2,4 9F 8T NS MY Bfvear | PN S YT e
. .fr the following dat (ii) Simple and Partial correlation
(b) Find mode from the following data : R S R AT
o] O *I_1 IS Sfereat ¢ -
x ¥ (df How are population parameters
10 5 estimated from sample data? Explain
briefly.
20 7 2! U 11T R SR 2AT5 SRR
30 8 =7 Y I
40 10 .
50 3 ' 4. Answer the following questions : 10x3=30
() Mentionn two properties of regression wore i e e e
coefficient. ‘ (@) Find arithmetic mean from the following
R BN WP (AT a0 | | data. -
. SO OUF °f[T AR TG Sferea
3. Answer any two from the following '
questions : 5x2=10 ' Marks No. of Students
oS AT 2R o1 R e oI Bed i T G-I R
(a) Explain the merits and demerits of 0-10 4
median. ' - 1020 6
TR B S TR A0 4 | 20-30 10
(b) Explain the uses of MS-Excel software. 3040 . 20
40-50 10

MS-Excel 5%6(399 J9] 10T 47 |
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Or / a1
Find median from the following data :
oo OUA R W e
X - f
10 15
' 20
15
11 18
8 12

() Find standard deviation from the
following data :

oo U o[l W Row Sfoed :

X f
6 3
7 6
8 9
9 13
10 8
11

12 4
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Or / &1t

From the following data calculate
coefficient of correlation between X
and Y :

NORAARGR A LB SR L R i D

3@1@ :
X Y
65 67
66 68
67 65
67 68
68 72
69. 72
70 69
72 71

From the following data, find the
regression coefficient of X on Y :

O] OYF 91 YT €99% XJ ARG JNF
e : .

X Y
46 40
42 38
44 36
40 35
43 39
41 37
45 41
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Or/ 93t

Discuss the uses, merits and demerits
of rank correlation coefficient.

T TRTEE QT I, mwoﬂw{q
ST 3R |

%* k&
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